TiEEH :

seg) . T72IER : aRRTE(EMWNIE) T=3cm "“ﬁi 1.00m?
THRIEH #7 BB B 2= BB 7B Py 5T
SRR TE m? 1.00 720 720
BB m? 1.00 50 50
EEERMNT m? 1.00 60 60
1: 37J</JE/¢‘§I€ m> 0.03| 3500 105
R m? 1.00 250 250
EEE'IH(E’E)JEE&TE%%) = 1.00 5 5
m° B B &t: 1190 7T
TRREME
Egy . TRIER : sERRTE(EWITIE) T=6cm BEfi : 1.00m?
THIER AR | EBfr | =2 BE | A8 | Wi
SEERTE m? 1.00 620 620
BB m? 1.00 60 60
EEERMNT m? 1.00 60 60
1: 37J</)E/Dé‘;z m> 0.03| 3500 105
wRIE m? 1.00 250 250
SETH(EUERER) = 1.00 5 5
m’° B B 5t 1100 7T
TREHE
SE® . Ti2IER : SRR E(EMIIE) T=6cm BEfi : 1.00m’
THIER A | B | =2 | BE | &8 | M
SRR 13 m? 1.00 620 620
BB m? 1.00 60 60
EEERMNT m? 1.00 60 60
ST R m> 0.04| 1250 50
WRITE m? 1.00 150 150
SETH(EUERER) =% 1.00 10 10
2 m° B B &t 950 T
TREME
SE® . Ti2IER : SRR E(EMIIE) T=8cm BEfi7 : 1.00m’
THRIEE wAB | B | =2 | BE | @8 | M
SRR T1E m? 1.00 680 630
BB m? 1.00 70 70
EEmENNT m? 1.00 60 60
TR m> 0.04| 1250 50
T m? 1.00 150 150
SEETH(ZUERER) =% 1.00 10 10
m° B B 3t: 1020 T

830

740

740

810



TiEEH :

seg) . T72IER : oRR T E(EMINTIE) T=10cm By : 1.00m?
THIER B BfI 2= BB 7B Py 5T
SRR TE m? 1.00[ 1660| 1660
BB m? 1.00 80 80 1800
EEERMNT m? 1.00 60 60
TR m> 0.04| 1250 50
R ITE m? 1.00 150 150
SETH(ETERIER) =% 1.00 10 10

m’° B B 5t 2010 7o




